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1x5 = 5
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6x2 = "12

8x1 = 8

3x4 = 72

2x2= 4

3x2= 6

5

(MODERN INDIAN LANGUAGE)

Full Marks : 100

Pass Marks : 30

Time : Tfuee hours

The figures in the nurgin inilicate full nnrks
for the questions.

Q. No. 1 carries 7 nnrk each

Q. No 2 carry 75 nmrks

Q. No 3 mrry 70 marks

Q. No. 4 cnrry 5 nnrks

Q. No 5 cnrries 1 nnrk each

Q. No. 6 can'ies 5 nnrks

Q No. 7 cnrries 8 nnrks

Q No. 8 {t 9 carrics 6 marks eaclr

Q. No. 70 carry I nmrks

Q. No. 11 cnrries 3 mnrks eaclr

Q. No. 72 carries 2 nnrks eaclr

Q. Nn. 13 cnrries 3 nmrks ench

Q. No. 74 carry 5 nnrks

Total =100
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1. ftqfufuq qrqivr 61 q6+-r 3{+ +n f<q 'rs vr{ *' rm dfrq : 5

tqt 6tfr 6.rc ffi + sdi tli, ft,

s*{ Ffud-crq fu qt e"fr frfi cft ?

({ ,rd 6{+ +l rtni qr I qfda fr-qR,

f6e +s I *1 6 aR< t+-< ilsdR I

\.dF i< t stri sti f{.tq di n-rrt,
q-eq srrcfr orq, qd e{s( q+fr ffir
qd rid + qtrr r<q qet t rRt
.,6 d ffi rtfr, di f<qrq i d-dt
qlf i+q cl-d+ tR i Edr6d +1 srr,

er fq<r qf< qti aq n gi rd a-c-*t z

wrt:
(, o-f,q H e{rrr sl-{6 t u

(,i) n-ffqn ffids qst t ?

(ii, aErm i Ai a1 fridr 6-6i {fi {6-fr ?

f;rl ' erclt * fi{flirt fii qr qt en$q t ?

(r, W qaiYr 6l qs' 3cgffi rftf{ Afuqr

2. frqfrfun rsi{r s} !-.66-{ ss} +i Rq ,rs, vrfr + t-tn dfqq :

1

1

1

1

1

15

rmfrq {iiqn fTqifti t t q+ en fiqrq qi+efi 3rgi{d qltfrq ftidr i
qiq-< c6d1d rrIH + 34fird6rt t l E<1i frfirr< <ffi 41 XFfi qd €rcrFq-d

qrm * fos {qd t+qr r tl-+r W ts< ES F=jd 3t{ qi-+n i ggr Eet t r

q{i <fud qrfr i q-t en ei+sar-{ alqEqi n 6 ffi-3Tlqlfr( E{teq-ltqq G
arqqtr t 1q{il qet qt r qsftq t{qr6q + H { qq qs 3rt'IF1i6 i .ti p
f+ "gr ra.-frear qt qii r" d enr*, *c{rE i rcn qa qr-l !q-
ters-+r q+te qfu, e-{d 4. feq ++r or1l a-+rd'n etr Eanql +1 ctr od'n r

d sri+e-d'{ i :qqn {{ fi{r {S si'd + qt dE RqI I iqh fui 3di qq6{
rrsr$ q1r qrtrfi sI fi si fuir-q{r } E-drqr Edi f6<efl1 * qtfirat {vrq
i q+ <4 :rirdq qi +r qrq i+qr r qr qt qr iq <rrar qr qqi qrqs q 116{

sq qrqrFq+ srqm t *r gq+ Effr + ffit +i rfr qr+m 5o aIil mt

ffir6r{ rtrft, {€fdq eqfr tfrr
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J.

rF[:
O oTrgFl-+' qrdq Fiil{ i ,frqsq qi+sfl sT rrlt=t q6q$ HI t ? 2

(it d. !frqw qi+sfi i qtan u. ffi gfft + fuq {s{ f*-qr ? 2

(,,, Ei. sli+s;n.t f*,.q stfr *. q ? 1

(iz,) "ge qa.-fus+t qqr qit ?" eTsalqfi'* ve Yrt * r.r< i ftr<r+ i ql
qi6r? 2

(o) qri {*-ic *1W q-d + frq rflq{q d i wr fq,,ql qr ? 2

(u,, €Itr{dt {l;rq d im q<-+q q} 51 6rtl Hr ?r ? 2

(zr,r) ffi fu{r eirrfrr q{t €r'fr ? 2

(zr,,r) e{d tdfuC - Xtr€l, sr-{"q ln-d4q 3*{ rff-{l 2

FrE{fdfu( d t nrd qa- fdqq qt ffi*r frfuq : 10

(q-) f{dH er(rt qr 3TFflTq

( Tkfl -tq-fi + R-Ecu}.'r-gsct'r-gnfr'f-swnrnl
(s) qt{qn qtqq 

'
({trfi-y*.R-qrcrFs+. qtfi i s+tisR qTtzrsl +l gsqrq-Sct{rq-

EqS6R.)

(rr) gtrTr 3rFrfi 3t{ in{(

1tg-+r-e-an 3fk csf+rur * 6dq-arlft*i *r q-dq-vvtrsr sl
ErFr€-w{6R) I

3Tci wrh 61 rffiq qmrqa *1 q+et qr rdq :nil gq firdrfr qa+fifrc
qr * qrqr<+ + Trc go tn fofuqr 5

sgar

erqi srfl * fqi*rureq * erereq+-r qrdrflol * saiq i fq-dr 3rfirfirt Eh1

{fs( c..{t Eq g+ q* ftfuqt

s. frqfdfur srif + Tfl *iqs ,

(q.) fiz qtaq q1 | r

(E) qfiqn qlqq ffi q-et t z

1x5=5

1

1
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7.

(r) lfui ott qr qfiiqR qqq t-EYq qr rq ?

(s) {iql({ 61 5q sFr ffr d-d, t ?

(s) f6<] + d vgu vt*+t$ sT flq ftfsq I

(6) qd'qll €qrq i {gqldd lrel-m q{ w urdu vqa dfwq t

alqdt

(c) 3rqi 3fd td fiF€? (rfi vu Ef.{r q{ q66 fu-q{ ftfuq I

fTErldicn srqin 6l qarr *r* +i fts 'rn wif * str ffeq
16; a-d rt+run i tli,

dg*Ef6Cdi,
qt sqn ct I fuH * qci-
i6ntr rirtril t !

f<r qd-qd 6d-dr t !

f{{r
(, qq( 6Tqi{r } slq 3ik sfudr 6l IFI qflEq I

(r, qd rtqwn i ffidS t ?

(,i, qt i =i{crdr fss qnq en qrfi t ?

(",) 'dB t ef-6 t di'
-rliq qg alfqq t

STEZTI

1s; q+i ai uo,
(+i +lc ft+,
3Tg( *rTd Wfi
N cT"r qi,
6crg e.iildr +1

E-et €i n qn ,fr rd qq tfit
T€ 6T 3]q+I CI7 {EI 6I
dlzr t{ dn ffiilt

qFT :

(,) 6fq i fut 3rdlfi6 {€ 66r t ?

2

2

2

2
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(it) 'icri srET 41, ffiri sl'iildr .61' - 3TYq sg q;1fuq | 2

(,it) s'fu i {s 6T s{qrq cr, ffi 6-6r t sih d ? 2

(ir,)'Set <i i w r+ 'rfr s'q tld' - ,flq qs altsq r 2

8. frqfofoa q * Erd qr* areiv +) r.c+r sq* *A fts 'rs c{n }' rm {fsq ,

6

(s) Elqirr q6 fsff{ t IO-d + aEri
qfual q'r fuq+r 1ldr rn;d *r qri !

srfl $'fr
Eg st, 3g q{
t+t 1rvre q66i + qri

Ed Hr qri ?

Ef;t ;

(, '4t{dr q6 fss{I t .I;d + {€ri'- eir$c Eqs 41tqq | 2

(ri) 'kn {FIq E66i * rri 1e er uri' - qrq M qrrorfl srfuq r

2

2

2

2

2

3'<2=6

(6,)+dqdiqffi+1
,lFffid i€
*i fro t0 dr
* ernrq se alfqq I

29T MHIN

(ii, ffir 5.{q artr-Ei-m riln qrccr t ?

a2IAT

(€) d.rr l6-+ r€r t fusqrqr t
dTds A gi ei< i ftrsrqr t
<dqsti*cerfit,i
t€ e{r{i f qiq s61 sn* t r

gFt :

(i) qr6dn srirn i €16 e-t qi i er flq< or ra t z

(ir) d ald6 o] frq rfiR qn< 6{fr t ?

(ii, s-qa qrqier + 6ls 3i\ 6kdr sT rFI qdEq I

e. FTqtutua ii * CEd dwii $ s61 {tuq :

Cofitd.ts1



(€) dfr i frsrr d, ftglt +1 I fie, qfu,
qf{s- q] qt{q, I qrdE.< +1 qr+t t

- qlq ss qlfqq I

('I) 't'T qqsi {fffiqn
Eq qs gd-ir si Erft-
- Ei {ffi * qrtqq t ofr i qr airr frqr t ?

(s) E€ Td sli 6i
<fu"r Tm sti*n- gTqr{gl-

- 6ts i qffiqn €<ri i fds fuft 4] erqrqsl 661 t ?

19. ftqfufud d t fird q-* .rsi$ d 166{ sq+ +i fts rs cFif * st-r *fuq ,

8

(6) qii gS ilil +dr t l+'sren al qrdfil ri o0 1.g* t" t d qrm t
fo qt qr sr6dr t r oik d Td qrni f6 a qr qrct t 31ffi 'q{ftir qrd{'

*'.rd i srqi qq 3 *.-+o rr+ t+lnro {ttfi-ffi {rtfi, ai'q d YIlfi
fr ar<n+1 tt trr d i qrsR t drq rdr q6+ t, I sq qTEREJ sqr
erq i r-oi t r i dq srqR 6r srEmcr cari t r fur+r q-irirq t ts' *.qa

a-qrt t r +'w a1 a-rd 61 3TQi lrs{ i sqna al vE r {c x-flq + eq
w rn<fr 3ncs f .rTi 'nt ,+{ E.fi ui}r q+* t, rc 6 r-6 qrt t 3+{

sncq t Btt il6*' *r irffi ei rc q{6F 6{a t r !
rvt :

(i) srqR q1 qrqiq'al qr er eTr{q t :
(r, f6€ rsR * dq srEFcr 41 qqri t 3ii{ +d ?

(,r, ffi 61 ltk +r qrqn q< q+t s'ns qs t ?

(ir, qrqR i vqur+ eI qren t Z qc 41frq t

2

2'
2

2

(E) " qrfrq 6trr *r fuine ol qi t+ii or qor t, s+t i g,o rd q,t ffi
c-ot5fd n (Tq-€Tq qFIT qt=tl tqsi sft q'il T'{ t frfi t Eq *{ fqsr
eni ttt t qt rien of srfr qrqftq ctc{ofr q) qrSq t, Afu{ 65un q,l

rrs t qce qnr q+ ti rq - ftrgr< a1 dq ocor t sil "rrrfiq 
qiq{e]

i rd fueo r 'Tqrqur' dqt 'qaqna' i d oq t ar'q+t'.rr t *t
:rflr*irra: sEqr*iirc t if,n trd qtontqt e[fis{ qqffi & fdq
,L *.1-+.m ed * toq tr {q-t rz.d q lil fu{san t TE nrqffi
n ee q<omftiqr' qq{zl 6rtl t, tj,1 or"n *t Ers +r qr{qq 3si tfi
-O't, "+ 

svr fr etn Evi i 'fr +qr A qrEr +sI 6,i q1 yrtfi qr'{tq

fq-fl6 n E-6 qq d r*< qrfi tr"
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w:t;
O t{Fd-q N{rR i frFFr {€l 5I +€ fs''€ qild E}dr t ? 2

(i, {.Fd 4e+1 + k{q-d' f*;s ron 6I ttcr t ? 2

(il, trEd-q qif,r3i t 6'5qr fu1 q1 q6 q1 qrfr t ? 2

(ip) '{crqur' qh 'q6rtlR(' {r EIFI frq s6'r'+r t ? 2

11. fsfrfua d t fird arr cri * sfl ffqs : 3x4=72

(6) 'srqn i q.n qr{ t r' -+qsittel+a?
(E) ff TJq t fq'q 3rflsr +1 rre tfi t ?

(rr) qrd * c=I q{ E|FI e+{ 65un + {6.R A'i cq ?

(s) sfuqr lro +1 Stsa qt +tJln e1 ffi + *i q] fdqrfr t ?

(B) a€6 i ftrtq Eil 6mqfr .r+r1r +1 nrr el qnr t ?

{{-fi 5w€ ( fl{f,r{ qFI-2 )

12. ffituq f't 6Ed Ai wii * rfl {tsq ,

3

3

3

3

3

2x2=4

(6) c{iq{ sr{ 3h s{+ a-d * +s + qdq iti * ?

(E) qsittr{ <q +1 taevi i;S * ?

(rr) ftiq €r{dr'{Ifi-{qr ?fi, qt ssq rrqfl qr errs'fi Td qrl Ati ?

13. fiFf ai'csii * rm dfqq : 3x2=6

(6) Eer?-jir<rt qra61 fi fi55f d7 ffiqnpn q{ }TFIYI slldq I

(E) 53rn-qt<rt {lrrdr 41 d-vqr{d (qdl d s-6r qrdr t ?

1n; 4ftt1 arq +1 qfr qcq * qnl enn q.ai i qro d 'rfl m, Afsr q{iq(
qq srsF€ T6 rr+ t' - tql *1 ?

14. 'qr fu{ ffi qqdr d rr we-dqfr 66 Fd,t t ?" 5

- qqqrs-{ ffiqt
sMAf

'fu€r AGq' qra t Tfr fA 
"*{ 5{r1 qA + srdw 6i tos dG f<orql 'ra

t ? Rs dfqq r
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